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	One of:

[image: image1.png]



	2

	 FORMCHECKBOX 

	
	

	74
	Vehicle type more than 1

Tally

Frequency
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	75
	a)
360 - (120 + 85 + 93)


360 -298 = 62

b)
360 ÷ 6 = 60

c)    90 + 45, 180 - 45 or 3 × 45 or 2 × 67.5 = 135
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	((182 - 122) = 13.4
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	a) 
 = 622 km

b)
Tan 20º = x/440


x = 440 Tan 20º = 160


Distance = 440 + 160 = 600 km
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	a) 
= 15.5

b) cos angle = 4/16; angle = 75.5º
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	a) 5.32 + "0.9"2 = 5.38

              (C)

b) tan angle = "0.9"/5.3; angle = 9.6º      (B)
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	80
	a)
DC/8.2 = tan 37º


DC = 8.2 × tan 37º = 6.179...

b)   sin DAB = 8.2/17.9 = 0.4581...

      so DAB = 27.26... º  = 27.3º
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	81
	a)
x/1.4 = tan 62º


x = 1.4 × tan 62º (= 1.4 × 1.8807...) = 2.63(30..)

b)   cos x = 1.4 / 3.5 
      x = 66.4218…
      x = 66.4º


	6

	 FORMCHECKBOX 

	
	

	82
	((152 + 122) = 19.2 cm
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	83
	Bearing of 157 degrees drawn.
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	Tessellation ignore axes
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	8.2 × 50 000 ÷ 100 000 = 4.1 km
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	86
	a)
i) 5 cm



     ii) "5" × 20 = 100 km
(E)

b)
i) 060º


ii) 180º + "60º" = 240º
(D)

c)   plane plotted 4 cm from mast bearing of 220º
                                    (E)
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	87
	a)   0.9 ÷ 3 × 2 = 0.6 m

b)   28 ÷ 2 × 3 = 42 cm
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	88
	a)  accurate journey drawn

b)
i) 6.7 km

     ii) 356º
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	89
	a)  1/3

b) 
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	90
	Perpendicular bisector of PQ constructed.
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	a) and b) 



(C)

c) Reflection in the line y = -x
(B)
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	i) 3 × 5/4 = 3.75 cm

ii) 6.5 ÷ (5/4) or 6.5 × (4/5) = 5.2 cm
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	93
	a)   9 × 1.5 = 13.5 cm

b)   6 ÷ 1.5 = 4 cm

c)   60º


	5

	 FORMCHECKBOX 

	
	

	94
	a)   20 × 10 = 200 cm2
b)
 i) 20 × 10 × 15 = 3000 cm2
      ii) 3000 ÷ 1000 = 3 litres
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	95
	A = (r2 = ( × 35 × 35 = 3846.5 (3.14), 3850 (22/7), 3848.9 (3.14), 3848.4 (() 70 × 70 = (4900) "4900" - "3850"

A = 1050 cm2
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	96
	a)   trapezium

b)
 5.3 ( 1.2 + ½ ( 0.9 (5.3


 OR  ½ (1.2 + 2.1) ( 5.3

       area = 8.745 m2
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	a)   ( × 0.65 × 0.65 = 1.33 m2
b)   D = 5 ÷ ( = 1.59 m
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	100 cm = 100 ÷ 2.54


       = 39.3700 ÷ 36


       = 1.0936


       = 1.094
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	i)  1000/(2.54 ( 3 ( 12) = 10.9(36..) yds

ii) 100/"10.9" = 9.1743... = 9.1 - 9.2 m
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	(13

14) + 6 = 188

188

2.2 = 85 kg
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	Area of base × 12 = 84

½ × 4 × h = 7

h = 3.5
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	(2 + 4)/2 × 2 × 10 = 60 cm2
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	103
	3.14 × 4.3 × 4.3 × 26.3 = 1526.9 (( ( 1527.7) 3.142 ( 1527.9 = 1530
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	104
	i)
5 × 6 = 30 groats

               (C)

ii)
10 shillings = 5 florins


1 shilling = 0.5 florins


24 shillings = 24 × 0.5 = 12 florins     (C)

iii)
1 shilling = 0.5 florins


3 groats = 1 shilling

     8 shillings = 24 groats
                        (B)
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	105
	circle around:  r(r + 4h), 
,  
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	106
	
(h(b2 + ab + a2)
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	107
	a) circle drawn at 5 cm radius circle shaded

b)
i) 70.5


ii) 69.5
	4
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